PART C — (3 x 10 =30 maxﬁks) APRIL 2019 6135.‘3/SBT3A

Answer any THREE questions.

: Time : Three hours et
20. Discuss the inferential statistical methods. Maximuim : 75 marks

(g Leraluluid wepsmar alaind. PART A — (10 x 2 |
. . A — (10 x 2 =20 markg).

21. Elaborate the frequency distributions. g
= Answer any TEN questions.

S @eGleuaT LiTeuersHan et alleufl, ;
1. Define Variable.
22, Ilustrate the shapes of frequency distributions. TR

- , . 4ol 6TedTm meD 6Ted
Siemableuar e safleraligaunisamer 6%6TéEs. ] SR ,
_ 2. Explain — Inferential Statistice
23. Calculdte arithmetic mean : il e ]

x: 0-19 20-30 40-59 60-79 80-99 g erafluduie - oflarége.
7= N T 32 24 12 B R e e e L T
Fl_ () syraf sansd s : ) | . _‘ls ey fIfeql'len‘cy?
x: 0-19 20-30 40-59 60-79 80— 99 QST rant’ Ld> ievGauar sremp e araran?
f: b 17 . .32 24 12 |
4, Frequency distribution — Explain. -

24. Compute rank order correlation :

x: 21 26 42 37 25 i@otaudr LEED - efarsss.

f: 47 40 37 42 43 | 5.  Name the types (;f Kurtosis;
reufleng @l Hmey SewrédHes : : . .
S @r‘ 5)21 DB o o | gAE B@LWaT@auilal aimssmar eT(pg|.
f: 47 40 37 42 43 6.  What is Median?

BOLIL 6T eretriig) wirg)?
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10.

11,

12.

13.

Explain Geonietric mean.

Qu@_és@ gyeilenuw @Slmé;@asi

What is normal distribution?

QwédLy upared GTETLIZ) WITg? -

Find out mode : 1, 2, 8, 8, 4, 5, 2, 3,
wsh srans: 1,2,3,3,4,5, 2,3, .

Define Correlation.

@ (Opellenar euanywim. |

Define standard Deviation.

gL alevsasHanen QUEDTLI).

Name the types of Correlation.
L Heiler cuamassamer GHLUKGHS.

PART B — (5 x 5 = 25 marks)
‘Answer any FIVE questions.

What are the sources of Pr1mary and Secondary
data? Explain.

wsaflaar DbHmbD  GrerLmd ﬁ]meug) g,gma;aﬂem
CampreumiseT wrenen? efleré @,
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14.

15.

16.

17.

18. .

19.

How to-tabulate the data?
STQISENEIT GTELEM) aLL@Jmmuu@ggﬂ@;@?

Explain skewed distributions.
s ueudsamar alleTéEs.
Calculate Harmonic mean :
x: 10 12 ‘14 16 18 20
f: 5 18 20 10 6 1

Bevsa| eranr #ymaf) sesdHs.
x:-10 12 14 16 18 20
f: 5 18 20 10 6 1

Write the merits and ‘demerits of central
tendencies.

Ll Gursseraelulen Flam Gampsear T(P&IS.
How to draw scatter diagram?
Hse eflerdaiuLLb oUaTsSD CTAIBETLD?

Calculate variance : :
0-10 10-20 20— 30 30 40 40 -50

4 9 6 4 2
wroun® sarsHoH s ;
0~10 10-20 20-30 30-40 40-50
4 9 6 4 2
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